Algebra 2 Name ID: 1

Chapter 1 Review for Final Date Period
Identify a pattern and find the next three numbers in the pattern. 2657947
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Solve each inequality and graph its solution.

17) 3(5k+5)=0

18) ~(3p+2)+5p=-16
el | i . VIAN LNy y v
Tl =5 a3 OF Tg® WA, N A H f - b Bc-=4 <3 -3
Hkt+ 1520

Bp-2+Hhp =l
Ak 21D Zp 3= x
Solve each compound inequality and graph its solution.
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Chapter 2- Review for Final Date Period

Sketch the graph of each line.
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Write the slope-intercept form of the equation of each line given chéjpe and y-intercept.

5) Slope =3, y-intercept=-3 6) Slope =-2, y-intercept=-2

y=3x-3 y=TaxZ

Write the slope-intercept form of the equation of each line.

7) S5x+3y=-15 ‘ 8) 8x-Ty=14
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Whrite the slope-intercept form of the equation of the line through the given point with the given
slope.
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Write the slope-intercept form of the equation of the line through the given points.

11) through: (-1, -4) and (0, 2) 12) ﬁnough'( ~1) and (-4, -2)
/H :;VLC" \/ T ( :__ = I/(_{
()' ] ( -*L—{"'(') =k

Werite the point-slope form of the equation of the line described.
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Graph each equation.
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Sketch the graph of each linear inequality.
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Evaluate each function.

19) glx) = —x2 + x; Find g(5) - 20) h(n) =—2n - 4; Find (7)
(5 )- = B4 40 h(1)=-2(7)"4
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Determine if the following relations are functions. e
21) {(2,4), (7, -11), (8, 6), (7, 14)} 22) {(1,-3), (4, 9), (-16, -3), (11, 56)}
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Write an expression to model the following situations.

23) Atree is five feet tall and grows 2 feet each 24) Jill has 25 dollars and spends 3 dollars a day
year. on lunch.
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Chapter 3- Review for Final Date | Period
Solve ﬁg_ghsy-ste 1 by substitution. )
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Solve each system by elimination. g - {
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6) Carlos and Molly are selling fruit for a school fundraiser. Customers can buy small boxes of tangerines
and-large boxes of tangerines. Carlos sold 7 small boxes of tangerines and 12 large boxes of tangerines
for a total of $270. Molly sold 6 small boxes of tangerines and 2 large boxes of tangerines for a total of
$74. Find the cost each of one small box of tangerines and one Jarge box of tangerines.
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Solve each system by graphing.
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Sketch the solution to each system of inequalities.

A/ N\

A

T\

N
5 LY
V

37

QY
N

Oy
o,

Graph the following piecewise function.

10) f(x)=-3x+1 whenx<-1
2x—4 whenx>-1
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Identify the vertex, axis of symmetry, domain, range, and direction of opening of each. Then
sketch the graph.
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Solve each equation by factoring,
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Find all zeros.
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Solve each equation w 1th the quadratic formula.
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Simplify.
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Graph each number in the complex plane.
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